
  

Time ≤	
 300	
 secs 
	
  

Tests	
  to	
  be	
  excluded	
  from	
  Slow	
  Test	
  list	
  

Test 
Suite 
 

Test 
Numb
er 

Duration 
(seconds) 
ldiskfs 
avg = (v1 
+ v2 + v3) 
/ 3 

Duration 
(seconds) 
dne 
avg = (v1 
+ v2 + v3) 
/ 3 

Duration 
(seconds) 
zfs 
avg = (v1 
+ v2 + v3) 
/ 3 

ldiskfs dne zfs 

conf-
sanity 

30a 240 
	
  

(230 + 241 
+ 241) / 3 
= 237.33 

(218 + 197 
+ 206) / 3 
= 207 

 
✔ ✔ 

conf-
sanity 

31 53 (54 + 53 + 
52) / 3 = 
53 

(54 + 55 + 
55) / 3 = 
54.66 

 
✔ ✔ 

conf-
sanity 

45 483 (503 + 
491+ 489) 
/ 3 = 
494.33 

(461 + 442 
+ 436) / 3 
= 446.33 

   

conf-
sanity 

69 1322 (1352 + 
1227 
1342) / 3 = 
1307 

Skipping 
ALWAYS 
excluded 
test 69 
 

   

ost-pools  5b 105 (102 + 104 
+ 110) / 3 
= 105.33 

(72 + 55 + 
51) / 3 = 
59.33 

 
✔ ✔ 

ost-pools 18  560 (566 + 553 
+ 580) / 3 
= 563 

(449 + 504 
+ 448) / 3 
= 467 

   

ost-pools 22  213 (208 + 207 
+ 214) / 3 
= 209.66 

(210 + 219 
+ 211) / 3 
= 213.33 

 
✔ ✔ 



Time ≤	
 300	
 secs 
	
  

ost-pools 23b  756 (824 + 285 
+ 783) / 3 
= 630 

(351 + 
1627 + 
638) / 3 = 
872 

   

ost-pools 25 72 (71 + 73 + 
72) / 3 = 
72 

(80 + 87 + 
69) / 3 = 
78.66 

 
✔ ✔ 

recovery-
small 

 17 44 (43 + 45 + 
44) / 3 = 
44 

(43 + 44 + 
43) / 3 = 
43.33 

 
✔ ✔ 

recovery-
small 

 26a 48 (48 + 51 + 
49) / 3 = 
49.33 

47 + 48 + 
53 

 
✔ ✔ 

recovery-
small 

 26b 55 ( 54 + 53 + 
54) / 3 = 
53.66 

(55 + 55 + 
55) / 3 = 
55 

 
✔ ✔ 

recovery-
small 

 50 244 (263 + 257 
+ 257) / 3 
= 259 

(285 + 266 
+ 267) / 3 
= 272.66 

 
✔ ✔ 

recovery-
small 

 51 256 (257 + 264 
+ 258) / 3 
= 259.66 

(362 + 294 
+ 285) / 3 
= 313.66 

 
✔ ✔ 

recovery-
small 

57 17 (16 + 19 + 
20) / 3 = 
18.33 

(32 + 51 + 
25) / 3 = 
36 

 
✔ ✔ 

replay-
dual 

21b 411      

replay-
ost-single 

 5 2574 (2799 + 
1979 + 
2354) / 3 = 
2377.33 

(1660 + 
2282 + 
1662) / 3 = 
1868 

   

replay-
ost-single 

 8a 71 (110 + 85 
+ 74) / 3 = 
89.66 

(3631 + 
1198 + 
957) /3 = 
1928 

 
✔ 

 



Time ≤	
 300	
 secs 
	
  

replay-
ost-single 

8b 95 (129 + 136 
+ 96) / 3 = 
120.33 

Timeout 
(3600+) + 
733 + 774 

 
✔ 

 

replay-
single 

 1 36 (33 + 31 + 
34) / 3 = 
32.66 

(52 + 39 + 
37) / 3 = 
42.66 

 
✔ ✔ 

replay-
single 

2a 33 (33 + 42 + 
36) / 3 = 
37 

(51 + 36 + 
38) / 3 = 
41.66 

 
✔ ✔ 

replay-
single 

2b 34  (28 + 32 + 
40) / 3 = 
33.33 

(44 + 37 + 
36) / 3 = 
39 

 
✔ ✔ 

replay-
single 

3a 35 (35 + 33 + 
38) / 3 = 
35.33 

(45 + 40 + 
35) / 3 = 
40 

 
✔ ✔ 

replay-
single 

3b  34  (31 + 34 + 
49) /3 = 38 

(45 + 42 + 
38) / 3 = 
41.66 

 
✔ ✔ 

replay-
single 

3c  32  (32 + 34 + 
36) / 3 = 
34 

(51 + 36 + 
35) / 3 = 
40.66 

 
✔ ✔ 

replay-
single 

4a 34 (33 + 31 + 
35) /3 = 33 

(45 + 36 + 
37)/3 = 
39.33 

 
✔ ✔ 

replay-
single 

4b  33  (32 + 32 + 
43) /3 = 
35.66 

(48 + 38 + 
36) / 3 = 
40.66 

 
✔ ✔ 

replay-
single 

6a  37 (35 + 34 + 
38) / 3 = 
35.66 

(54 +38 + 
41) /3 = 
44.33 

 
✔ ✔ 

replay-
single 

6b  40  (32 + 43 + 
34) / 3 = 
36.33 

(45 + 42 + 
32) / 3 = 
39.66 

 
✔ ✔ 

replay-
single 

12  31 (34 + 31 + 
43) / 3 = 

(42 + 36 + 
38) / 3 = 

 
✔ ✔ 



Time ≤	
 300	
 secs 
	
  

36 38.66 
replay-
single 

16  35 (33 + 33 + 
37) / 3 = 
34.33 

(43 + 35 + 
35) / 3 = 
37.66 

 
✔ ✔ 

replay-
single 

44a  112 (119 + 107 
+ 101) / 3 
= 109 

(115 + 107 
+ 106) / 3 
= 109.33 

 
✔ ✔ 

replay-
single 

44b  452 (450 + 448 
+ 450) / 3 
= 449.33 

(449 +449 
+ 452) / 3 
= 450 

   

replay-
single 

65a  45 (40 + 40 + 
74) / 3 = 
51.33 

(39 + 41 + 
66) /3 = 
48.66 

 
✔ ✔ 

replay-
single 

65b  34  (32 + 32 + 
67) / 3 = 
43.66 

(36 + 36 + 
86) / 3 = 
52.66 

 
✔ ✔ 

replay-
single 

66a  53 (48 + 49 + 
69 ) / 3 = 
55.33 

(49 + 52 + 
69) / 3 = 
56.66 

 
✔ ✔ 

replay-
single 

66b  39  (35 + 38 + 
77)/ 3 = 50 

(35 + 37 + 
57) / 3 = 
43 

 
✔ ✔ 

replay-
single 

67a  26 (24 + 25 + 
40) / 3 = 
29.66 

(24 + 25 + 
79) /3 = 
42.66 

 
✔ ✔ 

replay-
single 

67b   31 (27 + 29 + 
30) /3 = 
28.66 

(27 + 29 + 
60) / 3 = 
38.66 

 
✔ ✔ 

replay-
single 

68 71 (68 + 69 + 
71) / 3 = 
69.33 

(68 + 69 + 
87) / 3 = 
74.66 

 
✔ ✔ 

replay-
vbr 

7a 314      

replay-
vbr 

7b 316      



Time ≤	
 300	
 secs 
	
  

replay-
vbr 

7c 411       

replay-
vbr 

7d 301      

replay-
vbr 

7e 520      

replay-
vbr 

7f 526       

replay-
vbr 

7g  295      

replay-
vbr 

7h 206       

replay-
vbr 

7i 416       

sanity  51b (256 + 178 
+ 237) / 3 
= 223.66 

(233 + 226 
+ 232) / 3 
= 230.33 

(205 + 304 
+ 250) / 3 
= 253 

Not Enabled 
because of 
Sanity51ba. 

sanity 51ba (879 + 331 
+ 411) /3 = 
540.33 

(863 +814 
+ 816) / 3 
= 831 

(279 + 
1098 + 
1058) /3 = 
811 

   

sanity 24o (118 + 85+ 
111) /3 = 
104 

(117 + 120 
+ 118) /3 = 
118.33 

(66 + 104 
+ 117) / 3 
= 95.66 

✔ ✔ ✔ 

sanity 24D (343 + 256 
+ 339) / 3 
= 312.66 

(346 + 213 
+ 344) / 3 
= 301 

(188 + 364 
+ 327) /3 = 
293 

   

sanity 27m 70337580 
> 1600000 
skipping 
out-of-
space test 
on OST0 
 

70337580 
> 1600000 
skipping 
out-of-
space test 
on OST0 

16338176 
> 400000 
skipping 
out-of-
space test 
on OST0 
 

   

sanity 64b oos.sh: oos.sh: oos.sh:    



Time ≤	
 300	
 secs 
	
  

70220928
kB free gt 
MAXFREE 
3200000k
B, 
increase 
3200000 
(or reduce 
test fs 
size) to 
proceed 
 

70220928
kB free gt 
MAXFREE 
3200000k
B, 
increase 
3200000 
(or reduce 
test fs 
size) to 
proceed 
 

16295936
kB free gt 
MAXFREE 
800000kB, 
increase 
800000 (or 
reduce 
test fs 
size) to 
proceed 
 

sanity 68 skipping 
ALWAYS 
excluded 
test 68b 
 

skipping 
ALWAYS 
excluded 
test 68b 

skipping 
ALWAYS 
excluded 
test 68b 

   

sanity 71 (727 + 725 
+ 724) / 3 
= 725.33 

(725 + 726 
+ 725) /3 = 
725.33 

(725+ 726 
+ 747) / 3 
= 732.66 

   

sanity 77f (115 + 100 
+ 95) / 3 = 
103.33 

(99 + 105 
+ 96) / 3 = 
100 

(101 + 186 
+ 140) / 3 
= 142.33 

✔ ✔ ✔ 

sanity 78 (202 + 7 + 
7) /3 = 72 

(6 + 10 + 
6) /3 = 
7.33 

(10 + 49 + 
30) /3 = 
29.66 

✔ ✔ ✔ 

sanity 115 Skipped: 
no OSS 
threads 
 

Skipped: 
no OSS 
threads 

Skipped: 
no OSS 
threads 

   

sanity 124b (77 + 27 + 
50) /3 = 
51.33 

(76 + 105 
+ 97) / 3 = 
92.66 

(466 + 61 
+ 63) /3 = 
196 

✔ ✔ ✔ 

sanity-
benchma

iozone failed      



Time ≤	
 300	
 secs 
	
  

rk 
sanity-
gss 

100       

sanity-
gss 

101       

sanity-
krb5 

100       

sanity-
krb5 

101       

sanity-
quota 

12a  (495 + 535 
+ 623) / 3 
= 551 

(384 + 
1934 + 
1539) / 3 = 
1285 

   

sanity-
quota 

9  (151 + 3 + 
155) /3 = 
103 

(151 + 931 
+ 595) /3 = 
559 

 
✔ 

 

sanity-
quota 

18  (132 + 132 
+ 146) /3 = 
136.66 

(155 + 271 
+ 218) / 3 
= 214.66 

 
✔ ✔ 

sanity-
quota 

21  (58 + 62 + 
60) /3 = 60 

(115 + 70 
+ 100) /3 = 
95 

 
✔ ✔ 

sanityn 33a  (1200 + 
1720 + 
1237 ) /3 = 
1385.66 

(995 + 
14101 + 
9790) / 3 = 
8295.33 

   

 
 
 
 
 
 


